[ Fake rate vs vertpos | [ Duplicates Rate vs vertpos | [ Pileup rate vs vertpos |
~ 0.05
4

I s ST
i : + : .045

B + : g
SR =0.04

fakerate vs r
o
[ee]
T

T 1 : : @ E
L : + H+ + : : ®.035F
L : : : e E
0,5—---+—+*-5 ------------ S s S0.03F
L : : . o E
* * % + : : 0.025F
o.4}»-++ ------ R e R 0.02F
I : : : 0.015F
0.2 R A 0.0
: 0.005F
al- 1 " 1 oF g
S +VIT : o ¥ :
3 ' g I 5
o HEPAEINdE : @ L N
BT T ek I I !
098 2 1 I I 2 0,9:'2 :1 I 2 O-2 1 2
10~ 10~ 1 10 0 10~ 10~ 1 10 0 10~ 10~ 1 10 0
track ref. point r (cn%) track ref. point r (cml) track ref. point r (cml)

—=— DQM_V0001_R000000001__Global__mkFit_1lkstable
Fake ratevs Y —— DQM_V0001_R000000001__Global__mkFit_CAND1kstable
~ 0.2 - - : : - ~ 0.0%

S EEEE S SRR o F i i oo N N T
i e T A [ A A S S

e e T L T s s o
L ++5 0,14 o eob e B.007F++oeheeenboe
L N N N =4 N N N N N o N N N N
of-i iyt

: : g
: : = E : : : : : 2 : : : :
ﬁH """" o R I I

fakerate vs z

S O oesbee oo b 0.008f-++ocherersechionnen e
s | e o o R S 0004f- b

SEEEE N 1 RS RS 8 S s e S SRS S NN SN S
P SRS SR 00 5 M T e mn e 0002 oo
S R s S S T RS S s e

o o =R o
3 3 f 3 I
o " 2 i e R i b b b @ N
| ot i e F )
r 0,95 -+ - e emee e e r
0¥/ —=50 =10 0 10 20 30 05520 =10 0 10 20 30 B0 =00 10 20 30

track ref. point z (cm) track ref. point z (cm) track ref. point z (cm)

Fake rate vs. simPVz | [ Duplicates Rate vs sim PV z | [ Pileup rate vs. sim PV z |

NPT — N OB——————————————————— n 0.01¢
> . . . . . . . . . > F . . . . . . N > F . . . . .

a L e Rt S A AR e A A A

£ E b i b D 00BE - eee e

@ B QAP : L TR S S
2 £0.35F -+ feeesfub e de e B.007f o -ebereren e
Q Q o . . . . . N QL E . . . .

g R R SULLE SR SR SR S O SRS SR
< C Y S S SRR SOV UV O S SOV SV NS NS

= L e e R S St S A A e it Al Sl el
o o . . . . . N o o . . . . .

g OZp iy e A S

B A S S S R S S A

O Rt S S S S I 0.002f+++keereebone

G AR SIS S L T S Al S S

o o wc ! T ! e o q_""
g A : : g F 0
o @ i e e S i b @ N : : : : :

F 0.5f------ FEEEEEEE FREREEEE SRREELEE o e
: [T SRR R Rt EEEREL EEREEE CEET T SERRRE D [ : : H H H

0¥5-8 6 4 -2 0 2 4 6 8 10 g6 4 2 0 2 4 %60 =40 20 0 20 40 60

Sim. PV z (cm) Sim. PV z (cm) Sim. PV z (cm)



	Contents
	Page 1


